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import java.io.*; @ X @Q ;‘ /s \( @
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class Sample7_1
{
public static void main(String[] args) throws IOExceptio@
| A —
/] F—IR—BFADDEHE
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
// F—h—FAB
System.out.println("EBHEADLTIEEN, ");
e int 1 W
\
/g l i=Integer.parseInt(br.readLine()); \ 1 <——l ? ‘}’ —F
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System out.println("1 AAADESNEUE. ");
reak;
case 2: // iD'2DEE,
System.out.println("2 WADSNZFELE, "); ,l'J:Z}
break; \
default: // i D1 TE2 TERUEE.
System.out.println("1 D2 ZAHDLUTLEEU, ");
break;
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public static void main(String[] args) 10~ s
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System.out.println("b T3 ");. 6}3 - Z j/
break; i - i
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System.out.println("a CEb TEHDFIEA");
break;
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class Sample7_3
{
public static void main(String[] args)
{
System.out.println("!true = "+ (ltrue));
System.out.println("!false = " + (lfalse));
System.out.println("true & true = "+ (true && true));
System.out.println("true & false = "+ (true && false));
System.out.println("false && true = "+ (false && true));
System.out.println("false && false = "+ (false && false));
System.out.println(“true || true = "+ (true || true));
System.out.println("true || false = "+ (true || false));
System.out.println("false || true = "+ (false || true));
System.out.println(“"false || false = "+ (false || false));
¥
\}
RTEE
r}true = false
Ifalse = true

true && true = true
true &% false false
false && true = false

false & false = false
true || true = true
true || false = true
false || true = true

false || false = false
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import java.io.*;

class Sample7_4

{
public static void main(String[] args) throws IOException
{
/] F—M—FADDER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
System.out.println("HEEFBETINEY NN EAD LT ES0, ");
; -3 FRHLA
I] FRe EDEISEEAN o A- AT el 0T
f \YU char ¢ = br. regg;;;;%%?charAtfg), nou (SI%;,}7 Bl /)
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v/ ff(e == "N' J] ¢ == 'n') // NFERn EF,
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System.out.printin("®HEEELETTR. ");

System.out.println("Y D NZADUTLEELY, ");
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\. L7/ F—R— FDOXFHEAD
: ﬂ;}ﬁ'Yki)(v String str = br.readLine();
X /] F—IR—BNOSEEZEAD
int i = Integer.parseInt(br.readLine());
/] F—TR—EDSRYEAD
double d = Double.parseDouble(br.readlLine());
/] F—IR—REDE—NFEAN
>char c = br.readLine().charAt(0);
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r// AXF « INFOINIE 2

import java.io.*;

class Ext7_1
{

public static void main(String[] args) throws IOException

{
/] F—IN—FADD%ER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

System.out.println("®XCEBETI D ¥nY N ZEZALD LTI ES0N, ") ;
/] F—M—FD5 1XFEAD ~&7 o A\
char ¢ = br.readlLine().charAt(8); P bfeak’ﬂ ?j) a\é

\25
switch(c) /Caged) s TS [ %/'}%‘I N
{ "4 7 ; "‘\,/”)Q L e
d f;_a,case s /)
Yy iL'case Y YTy,
x 3 System.out.println("®HIRZEBEHETINR, ");
o g0 break;
BIC 2 e
o case 'N':
?‘/\iff’) case 'n': // NZEEl[En &E,
3§ System.out.println("®HRITIFLZETI I, *);
break;
default:

System.out.println("Y D NZADLTIES0Y ");
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class Sample7_5
{
public static void main(String[] args)
{
intEiss 3,'/‘/ %
/] 1BE - SEDHIE e X
String str; 2 550/1
str = ? MBE %@,
i
System.out.println("SZS5NEEHKII "+str+"TT, ");
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